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For each question from 1 1o 28, four oplions aro given. One of them is the correct
answar, Make your choice {1, 2, 30r4). Shade the correct oval on the Oplicsl Answar
{56 marics}

1 Theftowchant below s Uped W kiendily thige thinge, P, G and R.

Which of the Tollowing are most lkely to be P, Q and R?
T & 1~ Rk
B T Haca i g—
{0 on lo $he next page)
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2  The diagrem below shows the human digestive systom with some paris
labe¥ed A, B, C and D.

A
B
¢ D
Which parts produce digesiive juicos?
{1) AandBonly
(2) Band D only
{(3) A,Band Donly

(4 B,CandDonly

3  The young of insect X and insect Y are shown below,

Which of the following statements are correct about the young of Insects X
and Y? :

A Bothwillmoult
B Both look like the adults.
C  Both do nol have wings.
0  Both wil go through the pupa stage.
{1) AandB only
(2) AendConly
(3) BandC only
() Cand D only

{Go on 1o the next page)
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What is the similarity betwsen sexual reproduction of flowering plants and
humans?

{1} They Invoive feriilisalion of the ovules.
(2) PoNination must iake place before fertilisation.

{33 Fearbuston oomms ot thefemae reprociuctvepart
The diagram below showe parts of a cel, |
B
c
D
A o

substances to

Y S R—— T | -
@l ——Aac T c.“"'of:m_gj
Which part of the ¢ell conirols most of the aciivities?

{1). cel wsl
(2) nucleus

(3) cyloplesm
{4) chloroplaet

||| B

{Go on 1o the néxd pege)
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TheotypedeP.Gmepluioddomﬂnwaﬂofathlands
sMwninDiag:mtAﬂarafewm.mplaMsweﬁwndegat
different parts of the island as shown in Diagram 2,

Diagrem 1
Which of the foliowing best represent how the fruits and seeds of each type
of plant are

— Pt R
_PiamP PantQ —_ Ptk |

By water By animals Bysphiing
3) _By wind By waler “Byanimgls
{#) By spiting By animals By water

Aduit

o[ Yourg plnt

Which of the following correctly represent the processes A and B?

———

A B
(1) Foriiisation Gemination
— e —
4) _ inatic

{Go on to the next page)
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%  The diagram below shows two flowers of the seme spedies.

WWMM?

(1) A
(2 B
(3) C
4 0

40  The diagram below shows a plant.

Which perta of the plant will food mada by the leaves be transported 107
{1) Stem and root only

{2) Stem, fuit and root only

(3) Stern, fniit and Sower only

{4) Stem, frull, root and flower

{Go on 10 the next pegs)
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Umnar removed the root of a plant and put it into & fiask of red-ooloured water
for two duys. After thet, he cut the stem of the plant and observed the croes-
soction of the stem as shown below. ,

Umar observed that pari Y hamad red but not part X. Which of the following
best explaing his observation?

(1) Part X transports food from the roots to afl paits of the plant.

(2) PartY transports waler from the roots o aff parts of the plant.
(3! Part X transports food from the leaves to all parts of the plant.
(4) Part Y transports water from the jeaves to afl parts of the plant,

The chart balow shows how substances are transported in the human body.

=)

Blood vessel X Blood vessel ¥
“Small
i intestine
Which of the following is correct?
OrganA | Organ B | Carbon dioxide st X | Digested food at Y
compared to Y compared to X
1 Heart More More
[2) __Hoart Loss More
)| Hoat |  Lungs More _Less
4} | Heart | Lungs Less Less

{Go on o the next pape)
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Which of the following siatements abog the humen circulatory syslem are

Blood vessels sarry blood rich in carbon dioxide from the lungs

A
1o the heert,
B Blood vessals carry blood dich In oxygen from the heart to the
C  The heurt is en orgen that pumps blood conigining substences
1o sl parts of the body.
D  The digsstive system digests food and the digested food s
ahwmw&nbbndaﬂwmpomdhﬂpwhdmbody
(1) Aand Conly
(2) BandConly
(3) A BandDonly
(4) B,CandDonly

Raju prepared two set-ups, P and Q, as shown In the diegram below. He only

_ chunoadmwriﬂehhmﬁml

Sndc\\ *
Lﬁfﬁ (Z00Ds
Sebap P - Set-up :

After 4 days, Raju noiced that afl the seeds hbu&isel-msgmﬂnaﬁad.wmdm

'ofheuowlm the changed vareble?

1) Pﬂmdm
Presence of

{2)
Plumofwnm
{g} Presence of warmth

{Go on o the next pape)
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15  ‘The diagram below shows a gif diving from a springboard at 2 swimming pool.

pi———
.—-'I—.‘—

Which properties of material are important for making the springboard?
' Fisxible su_}g Walterproof

(1} T v

L v v
- - o

{4) - v L4 v

Z

Which of the following comectly identify substences W, X, Y and Z?
W X Y Z
(1) heat qlass gand. watey vapous |
2] Hight nitogen | paper iron
(3 sir wood plastic stoel
(4} shadow stons - oxygen wolar

(Go on fo the naxt page)
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The diagram below shows an ron bar AB that is magnetised using the stroking

methixd,
h .
t: '} )
A N s
A B A B
Belore ‘ Afer

Another ron ber, PQ, wes mapnetised using the same magnet,

Which one of the following diagrams shows a possble arrangement of lron
bars.AB and PQ after they wora magnetised? .

{1) @ p
Q .
A 8

@ 1 1 1 @ p
A BP. Q : A B

{Go on io the nexi page)
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18 The diagram below shows a plastic ball before and after it has been dented.

11

“There was no hole on the bali.

Q&

Which of the following correctly represent the volume and mass of sir in the
plastic ball before and after it has been denfed?

After_

\;:I.mof Wass of m ] m!;rLu
) "ias!_L!Eﬂ i N X §7
(2 1% o7 140 88
_(%; 5 07 158 97
¢ 166 o7 ; 93

19  Josiah wanted to

how the amount of heat in water ls affected by
its volume. Four identical beakers, A, 8, C and D, were filed with diferont

volume of water and heated to different temperatures.

Baaker B

{Go on to the next page)

www.testpapersfree.com




12

20  When air becomes very cold suddenly. cracks appearad on the pavement.

coki wind

demmmumhmmm'
pavement o crack?

A The cold wind causad the top of e to expand.
B The cold wind ceused the top of tile o contract
C The wamn floor ceusad the bottom of tile to expand.
D The wanm floor caused the botiom of tile 10 contract.

{1} AandConly
2 AandDonly
(3) BandConly
(4) BandDonly

21  Vasu shone a torch on: a vase and the shadow was cast onlo the screen.

=< !

torch
SGHben
M Vasu wanted %o make the shadow of the vase bigger, he shoukl
, e s

A move the torch neaver o the vase
B move the screen néaner 10 the vase
G move the torch further away from the vase
D move the screen further away from the vase

{1) AandBonly
{2) AeniDonly
{3 BandConly
{44 CandDony

{30 on o the next page)
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22  The diagram below shows the change in stale of water.

Process P

e ——

Has no definile
shape and vohime

Has no definite shape
but has definite volume

23 The teble below shows the melting points and boling points of four
substances, J, K, L and M.
Substance | Malting point ("C) | Bolling Polnt {°C)
K] 0 100
K 10 86
L 25 110
M 50. 180

At which temperature would all the subetances be in the same stale?

0°C
30°C
%0 °C
160°C

{Go on o the next page)
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24  Yasmin placed four containars, P, Q, R and S, filled with 250 mi of water in
the school flsld. She measured the amount of water lsk in each-container at
the end of the day and racurded the results in the following table,

Container | Amount of water loft at the end of
the day {mf)
P 10
Q 176
R 60
g 175

Which of the folowing statements are correct?

A Container P has the lowest rate of evaporation.

B More waler is evaporated from contalner £ then R.

C Conlsiner R has the largest exposed aurface area of water,

D The rate of evaporation of water In contalner Q and S Is the
same, :

(1) AeandConly ‘
@ BeandDonty

A, G and D only
{4 B,CandDonly

{Go on to the next page)
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25 Which one of the following diagrams shows how plants play a pert in the water
cytle?

(1) 1 weater o clouds
Yapour
rivers and |
seas plants
1
(2) water
—> vapour clouds
rivers and
seas plants
|
(3) _» mr . elouds
rivers and
seas plants
i
4) T water K
— vapour »  clouds
tivers and -
seas P‘al'“

{Go on to the next page)
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26  Thiee materials, A, B and C, ane connacied in an electric circult and only two
buibs it up.

65—-1

-«
b‘

—e—

Which of the following best represent materials A, B and C?

.

A B c
{1) _bon . copper wood
(2) _plastic eon ~__copper
3 wood plastic copper
{4

27 The diagram below shows three KlenBical light bulbs of a lamp In the

bathroom.

%bhmdhhlmﬁagcﬁuﬂsduﬂdbeusedmrmemmﬂmtﬂw i
towal will dry in the shoriast fime?

(1)

)

_®.®.®_ 2

e

T
&— ® —&

{Go on to the nent page)
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The diagram below shiows a drone. Whan the switch ls closed, the camera
and propeliers are turned on.

Whan a propelier siopped warking, only the camera continue to work,

Which one of the following elecirical ciroult tlagrame ehows the connection of
the camera and the propeliers? :

m {1jrasmy

& ——]tpe——

End of Bookiat A
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Forquesﬁonszsto#.mmmhmaspmspmided.memberof
marks avaiiable is shown in brackets [ ] at the end of each question or part question.

[44 marks]

29

(&)

: )

(¢}

Hannah put two pieces of cakes into two identical jare, A and B and added e few
dropsdwﬂuhﬁneeakehjar&%emmmmejammaimgmmgd
so that no air could enter the jars. The diagram below shows the results of her
experiment after thres days. .

Adrtight seal
s Cake is
Caks slightly
mouldy mouldy
JarA JarB
Which group of Kving thing does mould belong to? 1]

" e
[

Why does Hannah have to use airtight jars to ensure that the experiment is a fair
test? Explain your answer, . | (1

Hannah repeated har experiment by using a thied piece of cake she heated in an
oven. She observad that the cake did not turm mouldy after three days. Give a
reason for Hannah's observation. ]

3

(Go on o the next page)
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30 Aaliyah studied the e cycle of an insect .

(8) Complets the kife cycls of insect P by writing down the stages in the correct onder.

1
{(b) Caninsect P be a cockroach? Explain your answer. [1)

www.testpapersfree.com

{Go on 1o the nexd page)




3% The diagram below shows a laaf from a plant.

{a) Substances are transporied in tubes A and B. Name the tubes, 1]

An insect is feeding on the sap of the piant as shown below.

(5) Explain why the growth of the piant rocts can be affiscied when the insect fesds
on the sap. 21

3.

{Go on to the next page)
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32 Bala camied out an experiment lo investigate seed germination of plant P as
shown in the diagram below.

”

Test tuba X Testtube Y
{a) MMWHMWHHMXmWMMGm
' cotton woo! in test tube Y was kept dry.

® Mdmbmﬂmmubuonahbhnwmm Explahwhy
the location is suitabla fof Bala's experiment. (1)

o lnwlmmmu.x“onudmmnMBphhwamg

%

(Go on 1o the nest page)
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Baia then pioliad the graph below 1o show how wind specd cen affect the distance
travslied by the seed P.

Distance (melres)

Seed P

Wind spoed (units)

N ¥

<{b) Based on the graph above, which frult A, B or C, does seed P belong to? Explain
YOUT answer, L]

3

(Go on to the next page)}
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The diagram below shows the male and female reproductive systems in humans,

Name organ X and organ Y. ' 1

Qrgan X:
Organ Y;

Th;dbgram belpw shows two cells.

Cel X CellY
{i Which of the cells, X or ¥, is tekén from the cheek of 8 human? Give a reason
for your answer, ' ' [}
(@) Which plant part is cell X iaksen from? Explain your answer. {11

(GOonloHnn»udpeg’ej
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M INiwantstoMouthostavemgehemmchmes\menhem.

(s) Threa organs of the body are shown below. Draw two arrows (—— } in the
diagmmbebwtoshwhwb!oodﬁdﬂnpmmkmwmmughg}e
grgans. ‘

Musoles

(b) The graph below shows how Alfs heart rate changes s he jogs.

/

Hearl rete (beats per mintite)

/ﬂ

A

Jooging Speed (km/h)

) Whatle the relationship between A¥'s jogging speed and his heart rate? 1]

(i) Explain your anewer in (b)i)- {1

3
(Go on o the naut page)
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All caried out an sxperiment to measuse the volume of blood supplied per mimste
{o different parts of the human body diring two activities: resting and exercising,

Volume of blood
supplied por
" mimste {om?)

Based on the graph above, sxplain how exercising mmma'mlwmm'
@ ﬂnabs?mﬂonoﬂoodhmeﬂnﬂm R)

{Go onto the next page)
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38 Felix baked an apple ple and brought i to a parly in a paper box as shown
below.

When she opened the papsr box, she found that the inner strfacs of the
cover and ths apple ple were wet.

(a). Expiain why the apple pis bacame wet. 2

Felix put another appis ple into a skniler paper box. The paper box and apple
pile were not damp.

(b} Give an explanation for Felix's observation. | 1

3
{Go on to the next page)
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36 MrMurthu is Tamous for making “teh tarilc, or ‘pulied tea’,. He transferred hot
tea from ona container into another at a certain distance for five imes and
created a cup of fea with foam as shown below,

His son, Analsha, carried out an experiment to find out if the distance between
the contsiners, &MMWWM“WMWM
‘amanahmhﬁnhhiabebw. .

Distanse, d {cm) ‘ 50 1 60 70

80 | o0
mammdi»ww,ss B | 88 { 8 | 80
(°C)

(a} Based on the resulls, mmmmmdmmmr
: temporature of the 'pulled’ tea. {1}

{b)  Explain your answer in (a). ' o U]

(Go on to the pext page)
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37 Alisha took a siab of frozen meat from the freezer and thawed it on a fray as

shown in the diagram below. Thewing is a process by which a frozen
substance becomes soft as a result of wanning up.

stab of meat

(a)  Which tray, plastic or metal, should be used so thet the slab of frozen meet can
be thawed in a shorter time? Explain your answer. {31

Aftar the meat was thawed, Alisha cut the slab of meat into four thin sfices and
cooked them oo a hot plate as shown In the diagram below.

sicedmeat -

mmwmmmwmmmammMMmm
hot plate? Explain your answer,

3

[Goonbmenmdpaga)'
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I Markcamied out an axperdment with ths sot-up as shioun below. Thres cbjects
A&M&Mdﬁmm&hmmmmwa

m

i

switchopen sWiich closed

mmumﬁnmmmmmm ciosed

mmummhmm | e '
_wwitch was glosed {gm)

7 —5 -

| A —5 .

(a) Bnasadon the rosulte, which cbject, A, Bor G, is

o u dm:mmam%o

lap i'

Mark rapbelod the sxperiment by incraaeing the sumber of colis of wire sround
the bon rod and stached objoct B 1o the spiing.
(b)  Whatwould Mark obesrve sbout object B2 Explain your snewer. B

(Go on to the next page)
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38  Johan poured 200 mi of water of different temperatures into three (dentical
containers, A, B and C, and placed them in an open field on a sunny day.

Johan measured the temperature of the water and pictied the graph as shown
below.

a) Labelthe fines in the graph by writing the lsiters (A and B) i the comect boxes
() according to the amount of water that would be left after 80 minutes. [1}

Volume of water (mf)

200
* Time (min)
(b)  Explain how temperature affects the amount of water left in cup A. {1

. 2

{Goontoﬂwmm)'
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(c) Stete a difference batween evaporation and bolling of water. 1

()  Explein why Johan folt oven cokior when he walked past the fan. {11

(Go on to he naxt page)
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40 Mr Tan prepared three selups using identioal betieries, wire and bulbs.
Objecis K, 1. and M are conneciad in the circuite as shown, The results of the

sxperiment is a8 shown in the teble.
Set-Up | Bulb it up
1 Yos
2 No.
Sat-up 1 3 Yes

(8)  Fromihe results, which object is most ey o be an electrical insulator. Give a
reason, ’ 113

Mr Tan connected objects K, L. and M in ancther circult a8 shown below. -

(b) Willbulbs A and B light up? Explain your answer. 1

A

{Go on to the next pags)
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41 Kelly sets up an electric circuit as shown below. The switch ¢an be closed af
efthar point X or Y. )

{8)  What wil Kally observe when she closes the swiich ot point Y7 ()

(b)  Refer to the diagram below. Gomplete the ciroult diagram for the above circult
. when the switch is closed at point X, Label polnts X and Y cleaty. 124

Exid‘oiaoo:deta
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SECTION B ‘

Q29) a} Fungi

b) To ensure that any growth of mould Is only due to the water droplets
dripped on the cake and not because of the water vapour in the -
surrounding air. _

c) By heating the cake, the moisture inside the cake was removed.
Since mould needs water {6 grow and survive, the mould could not
grow on the cake.

Q30) a) Adult-> Egg -> Larva
b} No. A cockroach has a three-stage life cycle. Insect P has a four-
staged life-cycle. Hence, insect P cannot be a cockroach.

Q31) a) A: Food — carrying tubes B: water — camying tubes
b) The food made in the leaves cannot be transported to be the roots
and the roots will not receive enough food to grow.

Q32) | a) 1) There will be wammth, which is a condition for seeds to germinate
1) Test tube X. Seed needs water, oxygen and warmth to germinate.

-

gl
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The cotton wool is wet in test tube X while the cotton is kept dry in’
test tube Y. Hence, only the seeds in the test tube X would
geminate.

b) C. it has a wing-like structure which aflows fruit C to be carried away

c)

further when the speed of wind increases.

Seed dispersal prevents over crowding and reduces competition
between the young plants and the parents plants for space, water,
mineral salts and sunlight.

IQ33)

a)

b)

o)

Organ X: Testes

Organ Y: Ovary

Anther. The anther contains pollen grains which has the male
reproductive cells. The testes also contains the male reproductive
ceil. Hence, the anther has the some function.

1) Celt Y. Celi ¥ does not have a cell wall which can be-found in
typicél plant cells but not in animal cells. |

I1) Leaf. Cell X has chloroplast to trap sunilight to make food for the
plant through photosynthesis. Hence, cell X is take from the |eaf.

‘Q34)

a)
b)

Lungs -> Heart -> Muscles
I)-As Ali jogging speed increases, his heart rate increases.
1) When Ali jogs, his body needs more energy. His heart has to

pump faster to transport oxygen, water and digested food in the

biood to all parts of his body to undergo respiration and release
energy. Atthe same time carbon.dioxide and waste materials will be
removed from his body at a faster rate.

c) ‘When we exercise, lesser bioad is transported to the small intestine -

than whin we test while more blood is pumpéd-fo the hands and
legs. Hence the absopption of food in the small intestine would ocour
at a slower rate,

Qs |

The air in the box gained heat from the abpl’é pie @and’b,e'(:a‘r.ne"VWarrri. :
The warmer water v'apour came into contact with and lost heat to the |
coolerinner suiface of cover causing it to condense and from water
dropléts. The water droblet's than dfipped back onto the apple pie.

Hence, the inner surface of the cover and the.apple pie were wet. -

Pg2
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b) The holes allowed the warmer water vapour in the box to escape into
- the surrounding air and no condensation occurred. As a resuit, no
water droplets were formed. Hence, the apple pie and the box were
not damp.

Q38)

a) As the distance between both cups increases, the final temperature
of the ‘pulled tea’ decreases.

b) By pulling both cups further away from on another, it increases the
exposed surface area of the ‘pulled tea’ to the surrounding air.
Causing the ‘pulied tea’ to lose heat to the surrounding air at a faster
rate.

Q37)

a) Metal. Metal is a better conductor of heat compared to plastic. By
using a metal tray, the metal tray would conduct it from the
surounding air to the meat a faster rate, causing the meat to gain
heat faster and become soft. Hence, a metal tray should be used
instead of a plastic tray.

b) Faster. Cutting the meat increased the exposed surface area of the
meat to the hot plate aliowing the meat to gain heat from the hot
plate at a faster rate and cook faster. Hence, sliced meat would cook
faster than the whole slab of meat.

Q38)

a) Object C. when the like poles of fwo magnets face each other, they
repel. The fength of the spring decreased after the switch was
closed. Instead of increasing. Indicating that the object repelled the
iron rod after the iron road became and electromagnet. Hence,
object C is a magnet.

b) Object B would be closer to the iron rod than before. As the number
of coils of wire around the iron rod increases, the magnetic strength
of the electromagnet increases, as a result, the electromagnet would
attract object B at a greater extent. Hence, object B will be closer to
the iron rod.

Pg3
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Q39)

Vohﬂrdmimﬂ

- Tims {min)
a) :

b) The water in cup A has the highest temperature, allowing the water
to evaporate at the fastest rate.

¢) Boiling occurs throughout the water while evaporation only occurs on
the surface of the water.

d) The wind caused a faster rate of evaporation.

1 Q40) a) ObjectL. The bulb in sét-up 2 did not light up. An open circuit was
formed, and electric current could not flow through the bulb, Hence,
object L is most likely an electrical insulator. )

b) Bulb A will light up while bulb B will not. Object K and M are electrical
conductors. Thus, there is a closed circuit for the path with iight bulb
A ,
Q41) a) The buzzer would buzz and the fan would on

OO

Pg4
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